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General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION -“A’
Question numbers 1 to 10 are of one mark each
The number of zeroes for the polynomial y = p(x) from the given graph is :

y

A

(A) 3 Q 2

7 (1+ cos®) (1—cosb)
If cot 8 = = then the value of (1— sin8) (I + sind) is :

8

49 64

8 7
A o ® - © 3 D) 5

A ABC ~ A PQR. If ar (ABC)=2.25 m? ar (PQR)=6.25 m?, PQ=0.5 m, then length of
ABis:
(A) 30 cm (B) 05m (C) 50 cm

Given that HCF (26, 91) =13, then LCM of (26, 91) is :
(A) 2366 (B) 182 © 91

The value of cos 60° sin 30°+ sin 60° cos 30° is :

4
(A ® © 5

Which of the following is not a measure of central tendency :
(A) Mean (B) Median (C) Range

(2 + \/E) (2 + \/g) expression is :

(A) A rational number (B) A whole number
(C) An irrational number (D) A natural number
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If cos (20+ 6) =sin 30°, then the value of 0 is :
(A) 20° (B) 50° (©) 30°

The pair of linear equations 8x—5y="7 and 5x—8y= —7 have :
(A) One solution (B) Two solutions
(C) No solution (D) Many solutions

The value of sin 6 cos (90°—80) +cos 6 sin (90°—0) is :
(A) 1 (B) O < 2

SECTION - ‘B’

Question numbers 11 to 18 carry 2 marks each :
Find the L.C.M of 120 and 70 by fundamental theorem of Arithmetic.

In figure 2, If AD 1 BC, then Prove that AB2+ CD?=AC?+ BD?

C

A
Figure 2

Write a frequency distribution table for the following data :

Marks Above 0[Above 10 |Above 20| Above 30| Above 40
No. of students 30 28 21 15 10

Find the zeroes of the polynomial 100 x%— 81.

OR
Divide the polynomial p(x)=3x?—x>—3x+5 by g(x)=x—1—x2 and find its quotient
and remainder.

sin 6 cos b = gsec 0 . cosec 0
Prove that ;) (90°—6)  cos (90°—0) '

Find the mode of the following data :

Marks 0-10 10 - 20 20 - 30
No. of students 3 12 32
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For what value of k the following system of equations have unique solution 2x +ky=1;
3x—=5y=7.

If one diagonal of a trapezium divides the other diagonal in the ratio 1 : 2. Prove that
one of the parallel sides is double the other.

SECTION -‘C’

Question numbers 19 to 28 carry 3 marks each :

Use Euclid’s division lemma to show that the square of any positive integer is either of
the form 3m or 3m+1 for some integer m.

The sum of the numerator and denominator of a fraction is 8. If 3 is added to both the

3
numerator and the denominator the fraction becomes 1 Find the fraction.

OR

Seven times a two digit number is equal to four times the number obtained by reversing
the order of its digits. If the difference between the digit is 3, find the number.

cosf cosf

- = :
Prove that 1= sinb 1+ sinb 2 secH

In AABG, if AD is the median, then show that AB2+ AC2=2[AD?+BD?2].

Prove that 3—2./5 is an irrational.

Prove that /7 is an irrational

Find the mean of the following data, using step deviation method.

Class Interval| 0-20 20-40 | 40-60 | 60-80 | 80-100 |100-120
Frequency 7 8 12 10 8 5

OR

Class 0-20 20-40 40-60 60-80
Frequency 17 28 32 p

If the mean of the above data is 50, find the value of p.
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1+ secA sin?A

Prove that = .
secA 1 — cosA

Find the zeroes of the quadratic polynomial 6x%>—3—7x, and verify the relationship
between the zeroes and the coefficients.

In figure 3, AABC is such that £ ADC= £ZBAC. Prove that CA2=CBxCD.

A

D C
Figure 3

Find the median of the following data.

Class 1-4 4-7 7-10
Frequency 6 30 40

SECTION - ‘D’

Question numbers 29 to 34 carry 4 marks each :

Find all the zeros of the polynomial 2x*—3x3 —5x2+9x —3, it being given that two of
its zeros are /3 and — /3.

If tan® +sin® = m and tan® —sin® = n. Show that m2—n?=4+mn

Solve graphically the pair of equations 2x+3y=11 and 2x —4y= —24. Hence find the
value of coordinate of the vertices of the triangle so formed.

State and prove converse of Pythagoras theorem.
OR

Prove that the ratio of the areas of two similar triangles is equal to the square of the
ratio of their corresponding sides.
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P that tanb + coth =1+ tan6 + cot6
rove tha 1 — cotb 1 — tan6

OR
Without using trigonometric tables evaluate :

3 tan35° tan40° tan 50° tan 55° — ; tan260°

4 (c052 39°+ c03251°)

The following table gives the age of doctors working in a hospital.

Age in years 25-30 30-35 35-40 40-45 45-50
No.of Doctors 4 5 8 6 7

Change the above distribution to more than type and draw its ogive. Hence find the
median of the data.

1040117- B1




wug ‘31’
Y9 HEAT 1§ 10 9eh Wcleh W9 1 ek T |
T 1 H 9g9% y=p(x) 1 I fG 71 @ p(x) LTI & §&A T |

\
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(1+ cos ) (1— cosb)
(1 - sin@) (1+sind)

FHIAA T

49 64
A o (B) © 59

AABC ~ A PQR 3f< ar(ABC) =2.25 m? ar(PQR)=6.25 m?, PQ=0.5 m d AB &l &g
g
(A) 30 cm (B) 05m (C) 50 cm

Afg (26, 91) FT HCF 13 T @ (26, 91) FILCM T :
(A) 2366 (B) 182 © 91

c0s60°sin30° + sin60°cos30° <kl HIT % :

1 3
A 5 ®) ©

frafafaa # @ e HE ygfa & 7 T2 8 2
(A) HI=A (B) WIS (C) ufEr
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7. (2+5) (2+ VB)HH -
(A) T 90T 9E= 2| (B) T Ui HEA ¥ |
(C) e AT He&m g (D) T& Wihd G & |

Il cos (20 +6) =sin 30°, % 1 0 HIAM T :
(A) 20° (B) 50° (© 30°

g TR 4T 8y —5y=7 AN 5x—8y=—7 % TA ¥ :
(A) A TH & (B) T T
(C) I3 &A &I | (D) 3% &

sinf cos(90° —0) + cos 6 sin(90°—6) T AT T
(A) 1 (B) 3 (0) © 2
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TR ohl STYRYA T8I ¥ 120 & 70 T LCM T HITSIT |
o= 2 # afe ADLBC @I, fag *ifSt : AB2+CD2=AC2+BD?:

C

A
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TGS 100 x2— 81 % Y[k 1A HIToC |
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sin 0 cos 0

O + = gec 0 . cosec 0
fas =T % 57 00°—0) T cos (90°_0)

frafafeq siwel ¥ sgas I R
IEICD 0-10 10 - 20
farenfei=i «f @@ 3 12 32 20
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cosf cosf

fag wifse f& - + = 2 secH :

1 — sin6 1 + sinf

AABC ¥ afg AD 35! Wifeat § @1 S9IET fof AB2+ AC2=2(AD?+BD?) :

fog =ifee f 3—2/5 & i §=a ®
areraT

fog =i for 7 T o9iag gen §
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frefafad sieel o1 T-fome fafy & ame 3@ wifee |

a7 AqTA 20 - 40 40 - 60 60 - 80 100 - 120

ARIRAT 8 12 10 5

AT

Ife frefafaa stiwel 1 A=A 50 § @11 p 1 A 1@ Hiferg |

Rl 0-20 | 20-40 | 40-60 | 60-80

AR AT 17 28 32 p

frre <A 1+ secA _ sinzA :
secA 1 — cosA

5o 9gU% 6x2—3 —7x % YIS FA DT TR YRIH! AT TUNR & o1 o Fag Tl Feaal
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aHpfa3 ¥ AABCH ZADC= ZBAC ® @ fag ®ifST ff CA2=CBxCD :

A

B C

D
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28. frAfafEd eifwel @ Aede A wifeg

it 4-7 7-10
IR FRAT 30 40
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TgUE 2x% — 343 — 542+ 9x — 3, & Wl YF @ I AT 39k I IR /3 R — 3 7 :

IfC tand +sind = m% 3R tand —sind = n%?ﬁ IEN f& : m?2—n?=4Vmn

GHIHTOT T 2x + 3y =11 3R 2r — 4y = — 24 1 TH GIC| 37 X@isii & 57 e & s
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tan6 cotf

aﬁﬁ‘q . + =1+ tan6 + cot6
RES o 1 — cotd 1 — tan6

3reran
Freprotfirta arferertet & o fomr, f1e1 =St 1 91 g SIS

3 tan 35° tan 40°tan 50° tan55° — ; tam2 60°

4 (cos2 39° + Cos2 510)

freafafeaa aifeer & eTeqaren # sreRa fafemcenl = 39 & T g

(T H) 25-30 | 30-35 | 35-40 | 40 -45
faferent &t 9= 4 5 8 6 7
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